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Chapter 5 Review

- ; V0).
1. If log, 2 =x and log, 5 = y, find an algebraic expressionfor log, in

terms ofx and y.
--™,

“

105, lo?

log,LS" RQ) = 4%

— Los,7

Pre-Calculus 40s
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Solve for x algebraically.
Showall steps.
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3. The population growth ofa bacterial culture follows an exponential curve
y =100e™ as shownin the diagram.

Findthe value of t,, the time that the population reaches 2000.
Round your final answer to two decimal places. [3 mark]

(5 Find kK (2) rad £,

K Cua) kt
Populationf (41, 2000) looo = Looe 2000 =i e&

y € W44k. Ke
lo = wW=ie“nr _

LS\-aASK 2 Ke

(1.44, 1000) Into = 4K lInvo = KK
= &\nvo

a lnza =U
\- vi

— le FTAUVMOIEA’ _Le 1.3F =
1004 > hour.
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4. The graph ofthe exponential function y = a* is shownbelow.State a possible

value for a. [1 mark]

y
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Old Exam Questions

3; Solve forx:

125=57*" [1 mark]

4 zx-\
5° =
32 tN -\

Y= Lx

X= %

6. Find the zero(s), in simplified form, of the following function:

h(x) = log, (log,, x) +2 [2 marks]

. Hig

as = \o \o *

poomel ( * da CMe ) le >
Coren ~ 2 a

Vv a <= \o ‘. ue K a.

2
2 —

lo ~ =

z
7. If f(x) =5lnx, find f71(x). [2 marks]

ae
m = Slax —

\ $

Xe = S In ‘\ a ~ i .
3

x sia ) as on O

S | x. 5
"IS € N

e “3 5 xm.fet = 4

8. Solve for x, algebraically. State the answer in simplest numerical form.

Showall steps.

32° =167 | [3 marks]

a=\ Ke 4 y"
s 7(a) =(a

Seri i ~

= oO

Sx«Kxi\S = -%

Sx F7a

*« =
“LS
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9. Whatis the range of the function f(x) =2* +1? [1 mark]

Chie)

10. Evaluate

|
5 a L, ~ [1 mark]

11. Sketch a clearly labeled graph of y = In(x —1), showing any intercepts and
asymptotes. [3 marks]
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12. Solve for x: log, (x -2)-—log, x =3

x7?) 2%
*K

[3 marks]

los,

No xe LUTIONS

 

13. The lights are left on when a car is parked. The battery discharges and the voltage,

Vvolts, ofthe battery is given at any time by: V =V,e“

V,. =12 volts, k = 0.01 and ¢ is measured in minutes.

Find, to the nearest minute, the time it takes for the battery charge to reduce to 9

  

volts. [3 marks]

~o.o| &

A= \1r.e

O wO.01%

= €;

2
_ Ine =A

/ -o.9t*%

b\ae —(2) > “
7 12
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ln |Tur) ~ 4.

- 6.-90\
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14. State the domain of the function:

f(x) = log, (x + 2)

KP aw

15. Solve for x in terms of a and b:
x 5

e =a

ee 4ly e _ NW

ls
x lane => lan

b
~~ = lA Ge

oc = bb laa

16. Consider the function: y = 8* —2.

Find the x-intercept of this function.

O + $*-2

a= ¥
\ 3%
a= a2
\~ 3X w=

17. If log, 125 =3, find the exact value of x.

exp. oom.

> -_

x = 12S

x= 3S

Old Exam Questions
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[1 mark]

[1 mark]
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18.

19.

20.

21.

Solve for x. Express your answercorrect to 3 decimal places

 

e* =8'* [4 marks]
am =

~ Ine” = A

ge Ray
+a lace. - (\-x)\a & K = IAS

i Lela’
x = A. l4% —~x\na& -

x txh & = la &

x C1lehke) El

Find the numerical value of:

logs? [2 marks]
log, 3

2m

om
aes

a(t) = 4

If f(x) =log,, x, find the value of f(4). | [1 mark]

~ ott, siFy) = log4 nor ae los, 1

~ Ww? =4
FUN ) — = 2x

a . Yo =
Vv | |

Ne fe wher power goes ne the
If x =e7"* then find the value of x as a whole number. [1 mark]
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22. Solve for x:

log,(2-—x)=1-log,(33-x) [4 marks]

log (2-x) «los, C3-«)

log, C2 -~)C3-%) = | of Cx -4)(x-1)

= (a-x\U3-x) : x
a

2=6 -S«+x

oe x *-Sert

‘\ . . ;twe will 23. An investment earnsinterest at an annualrate of 7% compounded semi-annually.

 

Ave a How long will it take, in years, for the investment totriple? [3 marks]

A= PC a++£)** awe car Let P=
7. & an valve as leo

B= a (+08 ee -a & (S&S ey P le

«x lve |34> ( 1. 0d“ye an Ve

lo. >5 > =. lo 5 lL.“a

logd = At3

lop =
om las, LOSS 4m \G Wears: ( ig 461539 63)

24. Solve the equation -)_ 4 (5° ) algebraically.

Express your final answercorrect to 3 decimalplaces. [4 marks]

togPS eanle™)
(x) log3 = loot 4 \o45”

x logde Wgd = Logit + x logs

klogd - xlegs = logit -bo53

X (log 3-Llog5 ) = leytle

a os

 

K = -0.S563
\a953-los65
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25.

os,(2°3)

low .2 + \o54 >

ery
%, Find f°@), if AG) =e’.

wee”
x =C€ »

la = ~S\

27. Solve for x:

log, (logs, x) = -2

exp. born >~* = log. %

a &

%\ = K
aI

yi = x

5S FX

28. Solveforx:

ys4

_2 teat | 3

a ) >)

Aka Zh 3

2 > 2°
~Ux4 2 = 3%

-~ Hx 2

ye = +2 |3.

Old Exam Questions

If log, 2=p and log, 3 =q, find an expression for log, 6 in termsofp and q.

[1 mark]

[1 mark]

We can 4°

_ Srraant \o
“9 = \anxX

Cx) =lax

[3 marks]

[2 marks]
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29. Solve the following equation algebraically. State your answer correct to 3 decimal
places

5x}7 [3 marks]
(2-1) Lr )

lo S $ = Los +

es -) logS = Cvr4 ) log t

dx \0 95 ~ log S = « los + +t log

sa ley Sdx \og5 — x be5 + = 4 loot + oy)

\ = 4 logt + lowS ) a=* ( a loys - lost ~ § wae +2379

x Cs 4 log ++ log S

a lea, S- Lee,

30. In June 1998,the black bear population in Manitoba wasestimated at 1500 bears.
The population can be modeled by the equation A= Pe” wherer is the annual
rate of increase and ¢ represents the numberofyears.
Find the annualrate of increase in the bear population if it was estimated at 1740
bears in June 2001.
State your answercorrect to 3 decimal places. [3 marks]

A = &, 7F

-(3)
\F4o0 = Ison ©

ae

\>40 e
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a
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Bos Solve for x algebraically.
Give your answercorrect to 3 decimalplaces. [3 marks]

ge ao 7 2Rtl

Cxt4y amet)
log s ~ lox +

Com) logs = (awer) los?
x logs “05> = Ax« lost + Lost

xlogd— Axlost = Logt toss @1]— —~ YHLlov3 = O.
x Clog > - alloy) = Loa

~

they ™
= lost —YLlos >

ae ‘Lon 3 - 2 loq4
36. If log, 2= 0.3562 and log, 5= 0.8271 show that log, 40 =1.8957.

[4 marks]

los, Yd

lo 3-S

3
Lo “5 zw -3

loa 2° — los 5

g\os. 2 7 los, S

Le. Jser) + 0-%24!

\, 068% + 0-8QF|

\.84S F
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31. If log, x=16, findthe valueof log, Vx. [1 mark]

log. *

| K= Los q

4 (le) = °%

32. Find f(x) if f(x)=logx. “ase © [1 mark]

y= lo”

CYxy =— LO

au Solve for x. Give you answerin simplest form.

log, (log, x) = [2 marks]1
2

lia

4 = losy%

34. Find the x-intercept(s) of the following function:

y =log(10-3x)—2log x [4 marks]

O= los, (to- 3x) = logy toe Bn
x = lon

= OrbK
0 log € | ~~

* x -3rx-10O =O
9

lo = = | ic -s Your)ee
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37.

‘ee could

Stet w wh —_—>

lus ste

38.

A new automobile cost $24,000. Its value after ¢ years is given by:

V = 24000(0.8)'.

a) Determine the value after 8 years. [1 mark]

V = a4000(0.8)*

\ = inout

b) How manyyears will it take for its value to decrease to one-eighth ofits
initial value? State your answer to 3 decimalplaces. [3 marks]

3600 = ad4oeo (0.8)°

 

A _ (o-«)* Q.3\4 yearS.

S Se
oT < t+ =

los( Ve) > les ° “t

ag (8) i
log 0-% t

Evaluate log{100sin [1 mark]

log Loo Ct)

dk
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39, State the range of the function f(x) a2, [1 mark]

eo (01)

40. Solve for x:

1 2%

=) = 27" [3 marks]3

(sy =(9)0\

wo et 3*x -*>

15


